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Attempt all questions.

Make suitable assumptions wherever necessary.
Figures to the right indicate full marks.

Assume suitable data wherever necessary.

(A)  What do you mean by equivalent circuit?

(€©)  Explain losses in transformer.

(Ay A 1100-V, 50 Hz del

(B)  Explain

(8)

A)
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(A)  Explain working of transformer on Load with phasor dia

(B)  What are the types of Transformer tests? Explain s c

with necessary diagram.
OR

of transformer .

(B) A 2200/200V transformer draws a no-lo, ent of 0.6A
ifon loss currents. A
on open circuit.
no-load primary

and absorbs 400watts. Find the magnetiz
2200/250V transformer takes 0.5A at a
Find magnetizing and working
current.

slip rings with trwfo

4

in equiv‘nt circuit

ction motor has star connected
d93.8. The rotor resistance and
0120 and 0.25Q per phase

04

03

06

standstill leakage reagance
respectively. Impedance and Magnetizing Current.
Determine ; a. ent afistart with siip ring shorted :

tart with slip ring shorted
urrent at 4% slip with slip ring shorted
t 4% slip with slip ring shorted

OR

(A)  Derive uatfon of torque under running condition for three
phase induc motor. Also derive the condition for maximum

ue undsrunning condition.

double field revolving theory with necessary sketches.

elta starter.

(B)  Aftempt any two

a. Write a brief note about losses occur in induction motor.
b.  Write a brief note about Armature Reaction.
c. Give difference between lap winding and wave winding
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aracteristics of three phase induction motor.

e the different types of Induction motor starter? Explain star-

05

06

05

06

06

[P.T.0.]



Que. -4

Que.—4

Que.— 5

Que. - 5§

Que, ~- 6

(A) Derive the E.M.F. equation of lap connected D.C. generator. 05

() Derive the Equations for Armature torque and Shaft torque for
D.C. Motor. ‘

OR ’

(A) A 4-pole, D.C. shunt generator with a shunt field resistance of 1N
ohm and armature resistance of 1 ohm has 378 wave connected
conductors in its armature. The flux per pole is 0.02 Wb. load &
resistance of 10 ohm is connected across the armatureffermin
and the generator is driven at 1000 r.p.m. , calculate pow
absorbed by the load.

(B) What do you mean by back E.M.F? Give significdfice 03

(€©)  Write a brief note about H.R.C. fuse. 04

(A) What is Armature reaction of alternatcr’ lai .the effect of 05
different power factors.

(B) Explain the effect of change in arm @Rt with the change in 06
field current by using V curve.

O

(A)  Explain the methods of “St of Syn¢hronous motor™. 05

B) A 3-@, 16 poleg connected winding with 144 6
slots and 10 t. The flux per pole is 0.03 Wb.
sinusoidally ¢ speed is 375 rpm. Find the
efficiency ne emf. Assume full pitched coil.

Attempt any 12

(&) of alternator.

Section — I

its and demerit of hydro electric power plant.
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